HCW %51 — H{i kil

R - HBR - STREIPAER
FHRb

® 27/ 0 TR

® BHEEDE

@ H{iI¥ERE £0.01mm

@ TAFZREFEAPLEN ~ HAAREFIE -

X
HH EIAE (mm) 244 \ 260
EEAZ fiEEs)
e TR
EREHEHE kgf / cm? (kPa) 2~8(200~800)
fEFREHE °C 5~80
R & /min El=[E e papae
BING] kef 88 117
it MEA kef 76 103
BMEgTi2 mm 2.6
FHREZEBEOE PT1/8
EBRINEE kg 2.9 43
B ~ PR s 0.09 0.13
HOERE mm +0.01
TMBEAE HCW [ ] 44
12
1] sk AR (1% EI1E (mm)
=" TRERR 44 @44
L B RAR 60 260




HCW %51 — H{i kil

KFHEHER - RREERN

TR EE
HCW-HCWL 44 - OPEN HCW » HCWL 44 - CLOSE
150 150
120 120
E" 90 - \\ — "_u;n 90 —
R 73 Tke R 76 —
#° 60 # 60 Tkgf
¥ — 58 Skgf K 73 — H 5yef
30 30
———— 3kgf —
0 0 TT——— | 3kef
0 10 30 50 0 10 30 50
{EFERE Lmm EFRRE Lmm
HCW-HCWL 60 - OPEN HCW -~ HCWL 60 - CLOSE
150 150
120 120 —
T wp | Tkef 103 Tkef
N 88 Skgf R 86 ———— 5kgf
¥ 60 # 60 70
B — K
 3kgf —
30 30 —
0 0
0 10 30 50 0 10 30 50
BB RE Lmm EFERE Lmm
ZEETERR
17588 F A 7Lt 2. A BEEERIRALFL (1 T




HCW 51 — H{i ksl

AEGIEE « FHMER - BEROEREHR - EER

aEEEE

ZHMER
HRSR ELE| & MR L] =| e
01 N EaE 10 MR ZEEE 844 A%
02 mhA 22l i 11 MAAR ol
03 e BH+F 12 X B [l
04 WEEIEE Re® 13 O B8 [impiialics
05 &R EaE 14 0 BlIR i A2
06 MRz St 15 (oF:t}:: i hE
o7 &R REE 16 TSEHER FeEiH
08 EMEE HEE 17 BRI TEAA A%
09 [EE 218 # 18 (23S E) 2
BHERK O BIREHR o
B mm
EHB X BB BHFABR 130 BiR 14 0 BUIR 150 BUIR
R O\ HE 1 1 1 1 2
HCW 44 41*44.56*1.78 MY-12A 240*31 @8*@1 4*31
HCW 60 48.9x54.14x2.62 MY-14A ?52*@1 210*@1 4*31

BEER

L= g5 (kg)
HCW 44 114
HCW 60 165




HCWL &% — H{idkiH
REPLEBE - SHMER - BBERORVRTHR - EER

A ER4EIEE
|
®_ | o
| o
|
3***5 o B (1)
B
THMER
ReR 158 7a 4RER 5B 7a
01 PG REE 10 [EAREE 1R 44 =g
02 mh a2t 11 BAAR gzl
03 eS| Bt+F 12 X BUIg gzl
04 WREEE EEd 13 0 BIR gzl
05 JEHR REaE 14 0 BIR gl
06 mRE AEEH 15 (o} [z
07 EMEE biE= 16 EN S A
08 E E 215 # 17 HRFLIE(TIR4A A&
09 MR BZETE R4 S 18 [ R
BHEKOMIETHR e
B :mm
I5H X BUIR HWAAE 13 0 IR 14 0 BUIR 15 0 BUIR
FAKEY = 1 1 1 1 2
HCWL 44 41*44.56*1.78 MY-12A 240*@1 28*@1 24* @1
HCWL 60 48.9x54.14x2.62 MY-14A @252*@1 210*@1 24* 31
BEEX
pis)=| EE (kg)
HCWL 44 1.14
HCWL 60 1.65




HCW R5l — H{udit
SMRET R <

B
HCW(L) 44~60 HCW 60 MR FLIIR~F
D
—
o . ©
4R © | ©
o BB - -
4-W & ‘ Y
@ | |9
I
F HCWL 44~60 MA FLAIR~F
) | ) \‘
1524 s I I 124y 4 Ry
N # K | —| —
v \ v \
[+ 4
o
=
M
[P AN
EUEEMIBAE
S
-0
AB'O'OZ
\AC\
1 w
<
il
4-AF 2
B :mm
AgENMSE| AL | A2 B | C | D|E|F|G|H|I|J|K|[L|M|{N|O|P|Q|R|S|T| U
HCW 44 79.3|84.6| 85 | 67 | 70 | 50 [11.5| - | - | - | 20 | 3 |12.9|10|28.1|41.3| 17 |54.9(51.9| 75| 14 | @9x19dp
HCW 60 94 (993100 | 77 | 80 | 60 | 14 | 14 | - | - | 23 | 5 |[12.9]|10(28.1|41.3| 27 |54.9(51.9| 89 | 15 | @11x12dp
HCWL 44 79.3|84.6| 85 | 85 | 85 | 65 [11.5| - | 9 | 27 | 20 | 3 |12.9| 10 |28.1|41.3| 35 |54.9(51.9| 75| 14 | @9x19dp
HCWL 60 94 [99.3|100 | 100 | 100 | 80 | 15 | - | 12 | 36 | 25 | 5 [12.9] 10 |28.1|41.3| 50 |54.9(51.9| 89 | 15 | @11x12dp
Rl \ | V w X Y z AA AB AC AD AE AF
HCW 44 @5.1 | M6x1.0X12dp @5 PT1/8x10dp | M3 | @10x4dp @10 5.3 2 5 M5x0.8PX10dp
HCW 60 @6.5 | M6x1.0X12dp @5 PT1/8x10dp | M3 | @12x4dp 212 @5.3 2 6 M6x1.0PX20dp
HCWL 44 @5.1 | M5x0.8X10dp @5 PT1/8x10dp | M3 | @10x4dp @10 6.3 2 5 M5x0.8PX10dp
HCWL 60 @6.5 | M5x0.8X12dp @5 PT1/8x10dp | M3 | @12x4dp 212 26.3 2 6 M6x1.0PX20dp




HCW %51 — H{i kil

& FR &G 51
RIFITH
©
©
HHES 7
I 2 =
= | | =
®
{9f9
SEsEs R

WARINT » NI RE B REF

mIna

N TYY Y




	3.0-B_部分967
	3.0-B_部分968
	3.0-B_部分969
	3.0-B_部分970
	3.0-B_部分971
	3.0-B_部分972

